Writing the equation corresponding to the bringing together
of two sets (1)
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Thereare (_ big spoons.
—
X Thereare () tea spoons.
% % Altogether, there are
Write down the corresponding equation:
There are-\__f: ) apples.
There are,’ ) pears.
. MAltogether, there aref_f‘_‘
Write down the corresponding equation: =
Imagine the box and calculate. If you aren’t sure, draw the marbles.
5+ 3 = 2+ 7 = 1+ 7 = 5+ 5 =
G

Count and cross out.
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Complete the number line.
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A. Same activity as on B. In the first example, it is obvious that by bringing together the big spoons and the tea spoons we get a set of spoons; in the second
pages 39 and 41. example, the learners will have to guess the underlying notion of ‘fruit’ and it seems to be more difficult.



